WP Soluhons

)) ( & 3) “
(00 4 (1x) (9)' 6 () ()" 4 (30 8) ()¢9

- ol + 4 -393x°() + 64 64 + 4T (-512) ¥ 1-1-Yofé

= ol 10976 x3 418816 X" — 14336 x + Yot

:
2) (3%-2y)
7 U 3
< 3)(3)‘) (’Zj)
- 3591 (-9
= '22,6‘30qu3
= =% £(n-1)8
3) a, ] (n )8 0= gn-2|
= -1%48n- a, =787

Ga = Sn-21
8, =&lol-21 =808-21 =787

q) 0. =13 @&,="5
d- 22 -1y



s a1y L
a, = 125 6) 125 9) "
7> J7-q+3’l+—;-
Q=27 S: 27 - 2—7
S -(-3)  (3)
* > = 27'-3:20.25

‘3) 72 (3"%) - (3"4-2)+(3—‘I-3>+ (3-q.u,)+(;-¢l.g)

k=12 +(2-L/-6)



\) \)
‘ )
o~
gy +
oS
)
g
+
[]
W
~u””
+
7
~d
S’
+
\
N
)

Ge =5~ 61667 = -1947

~7,47 ,-277,1667 ~9997





